Challenge: Find the value of k for which the limit exists.
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How to evaluate limits algebraically:

- Vigvet Sﬂb

- ]ﬁﬂwjra(‘/ﬂ/lwswg/(,
_ TZAJ\—\’MJM



Infinite Limits (};’é_and 3-5)
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Function Dominance / 24500055+ 1000

For a fixed, large x-value, which is larger?, — x —=5000
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Exponentials dominate polynomials,

Polynomials dominate logarithms,

Among exponentials, larger bases dominate smaller,
Among polynomials, higher powers dominate lower,




For very large x values, consider:
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Homework:
p. 88: 4, 25, 26, 33-45 (multiples of 3)
D. 202: 13-22
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